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Z“E&1ERFE (CO2) kg-CO2 & 13,940,473 13,542,951
AR (CH4) kg-CO2 Hu & 32,777 32,271
—E1E — 2% (N20) kg-CO2 & 319,980 335,578
202 %8(HFC) kg-CO2 #a & 2,516 2,457
BEDRATRADEE kg-CO2 & 14,295,745 13,913,257
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1 (B, £ TFKEHRRO 001,035 924,30
2 BEEREE 883,187 853,067
3 IRIRER 11,603,276 11,341,808
4 L TFKEER 808,246 794,033
BEtHEH = (kg-C02) 14,295,745 13,913,257
BEtHEHE (t-C02) 14,296 13913
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t-CO2 7,307 6,514
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METEICE DT, —BREEVORANFICHESIBRENRTRABHE (F28FE 6, 989t-C02,
ER29FE 7, 399t-C02)[ZDLVTIX, ®ENELET,
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